Events /0.14

Data-Fit
A

Events /0.14

Data-Fit
A

Events /0.14

50

40

30

20

10

w

CMS

9
RSy

35.9 b (13 Te

vV

u* 2jets-1tag

L L L B A

e Data

Wt _channel
mtt

otw
WW/Z+jets
0QcCDh
NStat O syst

-1 -08-06-04-02 0 02 04 06 08
BDT output

30

25

20

15

10

10—

_35.9fb" (13 Tev

1

=

- 1 3jets-1tag

e Data

Wt _channel
mtt

otw
WW/Z+jets
QCD
NStat O syst

-1 08060402 0 02 04 06 08 1
BDT output
a0 CMS  359m(13Tev)
-t Bjets 2tags ¢ Data
Ht channel
mtt
Otw
BW/Z+jets

NStat 0 syst

-1 -08-06-04-02 0 02 04 06 08
BDT output

1

Events /0.14

Data-Fit
A

Events /0.14

Data-Fit
A

Events/0.14

Data-Fit

ey
RSy

w

35.9 fb (13 TeV

35

30

25

20

15

10

RN R AR R R AR RRRIL

2

e* 2jets-1tag

¢ Data

Wt _channel
mtt

otw
WW/Z+jets
gQcD
NStat O syst

— ]

_

QS‘C\;MS

-1 -08-06-04 02 0 02 04 06 08 1

3591 (13 TeV)

BDT output

30

25

20

15

10

TTTT [T T IT T[T T ITT I TITT X

e* 3jets-1ltag

e Data

Wt _channel
mtt

otw
WW/Z+jets
0QCD
NStat 0 syst

S ™ —— ™" -
1 208 -06-04 02 0 02 04 06 08 1
BDT output
xlqi(‘l‘l‘\/‘l\‘?g”_”_”_” 35,910 (13 Tev)
7 e* 3jets-2tags ¢Data
lt channel
6 mtt
s ow
BW/Z+jets

NStat O syst

|
080604 02 0 02 04 06 08 1

BDT output



